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20.  Given below are two statements:

C1
da
The capacitance of a capacitoravith charge d A

9
potential difference V depends on

(1  bothgand V

‘i}}/ the peometry of the capacitor
@) qgonly
(4) Vonly

: : 3 lar
Statement; Image formation needs regh 2
reflection and /or refraction:

our of objecks we see |

Statement 1 : The variety iD col
gent eolours of the

around us is due to the gonstit
light inc ident on them. °<U

tements, chopse the most
jate answer from the options gi\.'vn below :
.t but Statement Il is

In the light of the above sta
appropr
> Statement [ i8 corre
incorrect

(2)  Statementl is incorrect but Statement 11 is

correct.
\Qj Both Statement I and Statement 11 are correct.
(4) Both Statement 1 and Statement Il are
incorrect.
esistance.

21. A uniform metal wire of lengthhas 1042

Now this wire is siretched to a length 21 d(lF‘l then |
bent to form a perfectcircle. The equivalentresistance

across any arbitrary diameter of that circleis :
v 100 @ 50 OV oy
@ 400 @ 200

22, The spectral series which corresponds to the
electronic transition from the levels ny = 5,6,..: to 'lbﬁ

X2y Brackettseries

() Balmer series

the level ny =4 is
L

(1)  Pfundseries

(3) Lymanseries

Given below are two statements : One is labelled as
Assertion A and the other is labelled as

Reason R.

Assertion A ; Houses made of concrete roofs
overlaid with foam keep the room hotter during
sumifier.

Reason R : The layer of foam insulation prohibits

SR FHA i seR 9, A fai T et §Ed
(1) A T8 E 9 R T E
() A TEd 2GR GE E
(3) ST A 9 R HEl ¥ 59T R, A T HE A= B

heat ‘rmn.“.i'ﬂ_l'_, as it contains.air pockets. A~

Inthe Tigl.ll of the above statements, chioose the correct

answer from the options given below

(1) A is true but R is false,

(2)  Aisfalsebut R is true.
Both A and R are true and R is the correct
explanation of A.

(4)  Both Aand Raretrue but Ris NOT the correct

(4) ©HiA9RFE T TG R, A H TEl AR TR
2l Epek- 4O0-L-

alw

Y 40, 90

explanation of A.

collegeduniag

Foeviaw Pl

& M

D)



# 1" g
o uﬂ ‘lﬂ i afd
lﬂ;ﬂ gt ﬂfq]m L

f At w"
J

5 m
l“::] L
e S
X f{&“
.1—-: uﬂ_x
& -“'>> &rl-'
o=
.:-?‘“L s R T“-’m
:ﬂ LLILS Tkl ‘ﬁqr}aﬂ*‘ﬂm
_ﬁ;ﬂﬂl Wqﬂ'ﬂw 1 ot &
o frev @ A firern €1
.rx
@ 0l163cem
(Y iidn {4 Le3m
'Pj mem"ww@ﬁwﬂm
s g 8 2 AT A @ B ot T

b sl g A < T A A Rl
o s e 5 4t o e e
Fiiemal o &) A erfoae
o a-nwmﬁnm L|35

v

* ‘D‘

.
4] 1:8 (I

Vi SRS 7 NOT e e

e d

m.

i 1 hmﬁwmﬁiﬁﬁmﬁm
[T
B Ay (2 NOR =z

% OrRMm

m‘f’.’mg %%W%W

& "’%r

&

i "g;:ﬁ Y=asin 2t

) g Rl g ot
Aac : {2} i
By

N

26.

2%

28.

Al
(V5]

nm
Ao

29.

30.

@/’ AandC

a2 A+ s mpa

Tk i
A partic (L Ukl I;lilll 1] ket Ll

amphitude A hag fly Wime
energlos ot i tdinplagane Nl

LT menle motion Wi
Potentinl pnd kdne il

n A ) .-’\
ot 5 }
V2 I

Two slits in Young's double «
1.5 mm apart and the sereen iy .
of Lo from the slity, 1f
fs 600 %10 Y m then

(.l) 4% 10 ' m (2) 9510
(" AX10"" m W 4310

Water is used as a coolant in
because of its |

(m

HE experiment ar

o Placed ala distance
e wWavelonpthy of light e

W0 fringe ge Paration is .

H m

Y

a4 nucleary reackor

high thermal expansion coefficient

: high specific heat capacity

(3 low density

)

The pitch of anerror free screw gauge is 1 mm and
there are 100 divisions on the circular scale. While
measuring the diameter of a thick wire, the pitch
scale reads 1 mm and 63 division on the circular
scale coincides with the r('fl‘lon( @ hm I'hc diameter

of the wire is:
(1) 163cm M/ 0.163 cm "
4 1.63m

(3) 0.163m

low boiling point

Let us consider two solenoids A and B, made from
same magnetic m@:t{‘rlal of ILhti\ e permeability
and equalareaof ¢ 1;3::}_39({1% I.,ongih of A s bwic ce .
that of B and the number of turns per unit Eenbth in
Ais half that of B. The-ratio of “solf inductances of
the two solenoids, L : Ly is:
@ 1:2 @ 21

(3 8] 4 1:8

When the output of an OR gate is applied as input
toa NOT gate, then the combination acts as a:

(1) NAND pate NOR gate

(3) ANDgate (4) ORgate
Interference pattern can be observed due to
superposition of the following waves :

Al B.
C  y=asin(et—-¢) D.

Choose the correct answer from the options b“ en
below :

(1)

£

if=asinnt y=asin 2ot

y=asin 3wt
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of the magnitudes of electric field intensity (E) to the
magnetic field intensity (H) of an EM wave
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T, (A P
— by r (!' +2j) A coswtisa/an:
r = (: + 2;)Acoswt§ma E’Iﬁ"ﬁ’]ﬁ@ a'ﬂ’ A.  parabolic path 45
X fo-ferftr mfc % - B. elliptical path
v A TOEEER Y B. a?sfga]a;r(qq C.  periodic motion
C e T D. 9% 3Ed g D.  simple harmonic motion
% ¥ 13 T s & Wt e i ; g;gc‘:sf% the correct answer from the options given
() Fw@B,Ccap ;
, @ FFABAC () B,CandDonly (2) A,BandConly
@ % ACED @ ¥ 3 y A, Band C only
CaD {\ ) A,CandD 0nly 4) C a‘."ld :
cnlleged unias



g
ng

@‘g;ﬁﬁ 5 S 1, i 7 AUfAS T F1da | 4z
qﬁﬂ{g A @ ZHE AE 607 . fataa A I GREES

Fopepifiag ATET0EE C B, orient’

slaroid

s 1 B % T 457

A beam of unpo
yid A, then through and

Yy e V ci

ety by s P2
T ;]\;unvj

nother

jarized lightof in

through 2 polart
gl and Finally through 2
a5 show it

ed at
C, oriented at 45° relative 10 B

f emerge st light is

”ﬂﬁﬂ & | e
@ 7! s ﬁ LU The infensity o
Z¢i
2 ><_'_,_(_ ‘-‘\ A = :
W ===
A- '\Q
/
Ly @) In I Lo
T Ty In 2 1o
[ 16 4 (1) 16 2) 4
Iy Iy 1
@ 2 @ 2 b ey A i
2 2 (3) 5 @) o
0. Wﬂ 7 w@ T T 43. Selectthe correct statements among 0€ {Ou'—’v’ mg -
A i = ekl H i fTI"? * —7{61'-'-{ "’ U A Slow neufronscan cause ﬁseionm o ) than v
% fergved F F 1 | g,‘f(@ fast neutrons.
B e BT At & | pL B oTayE are helium nuclel. 7
5L g fogeo] TIIH T A frorg €1 \ C  praysare fast moving electrors & or poSIrons-
D Tr"‘m e =t ge 4 ;Trfrwfﬁf'sm?' D,  ~y-rays are Elyctr()m__gn__nc m_{_"lla'l"lﬂl'\': of
%Yy TET’FI 1_'"'7“"#—' fafs 2 Zi mave!engths laxgc,r than / K-rays. ~
fr"éff?iﬂﬁ"r"-"ﬂﬂ & e St oet 30 : Choose the most appmpnate answer from the ¥
: A B options given below :
1) Faa A, BEC 2 = A BE D
- . @) ABandConly @y ABandD. only,
@ FFMATB @ #IACAD ?
A and B only @ C andDonly R
44, ﬁm(u],w,ﬁ’ﬂr) UED Wﬂ # TifaaA [:[[ﬂ‘l
A= - 2 |44, Leto wyand o be the angular speed of the second
=1 Ay dFe U Z =TT v
ﬁ 7:1&‘714" it Tf,'_ i T? 'M-' =l ;,, T" gl \ *_Lhand minute ha_r-d and hour hand of 2 smoothly
. : 1 foe H el A F99: 495 % > running analog clock, respectively. 1f Xy, X2 and X4
;sza P &1 fe § F wE 1R g (k) & L are their respective angular distances in 1 minute
A e E: then the factor which remains constant (k) is:
W 0n 3 S W Wy w3 — oo
(1) i L=k ,’?%1 2%5 (1) G2 = i ==
A Ay R Tl Toom s 26
i 3 = i - -
@) o =0 =07 T k 215 2) Xy = WXy 0y = K 28 =2& ')
1 2 313
3 oxy = T 2 2 2 =z
nqX] Wy X5 = 933 k (3) 0¥ = 0203 = wsx3 = k QL & q
(4) 0121 = z Xy = U Z =k i 2 3
fx =w3¥Xy = W33 k (@) oefx = 03Xy = W3X3 k
45, UF e 2E gHE
: A T TR 3
g M E| T | 4 ihe magneﬁc moment of aniron baris M. Ttisnov
ent 1n suc y
a way that it forms an arc section of

memf%?wwmmw
im’*W?W??W?EWaPﬂmmamnu

7 = Ve g AT
IM
(1) e @) 4M
1
M L 21 \ 33
® —~ W®7 O £ -
LAV 1

circle subtending an angl
. _ g gle of 60° at the
magnetic moment of this arc sectionis C =l

W/qf o = e
%
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1.
(1) 32cm
@)

16 cm

Becm
24 cm

(2)
)

5 P
w | wwfarse # Fom % J7E, v = E ERGIET
1 U e e # e Y (modes) H
ﬁm?(ﬂﬁcraqm:ﬁqﬂm'ﬁﬁﬂ?ﬂ}ﬁ?
1 e 7 fafi e e €) : O
443y 344y
¥ 1 =11 g
3 —dy
—
S )
)%

47.

(1) (2)

4 -3y
0 =

8=
e 1 it afta % FrAWA 4 B F
%

A

B

(1) (2) B

o) @, A4 I

02 e 1 AT % A A AT Q = Qe B/ 2k
% aqan i w0 A a2 g, ol e 0 9 T
AN Q%1 A7 e, T A w5 AT, 50
Qq @ =2 5T %, e % —
(721 % R 1.5 63, L= 12 mH, In(2) = 0.698] |5,

1y 1901 ms 2) 1109 ms

@ 19014 @ 11098

e wefdia o o varg s yp 4

0V 20
~

AB

|

A+B

< %
50 -

LS

=Lk

47.

49,

~ The amplitude of the charge oscillating i a cixcui!

wows a uniform stralghl Wi, Ay I
ed at both ends, In order w iR
galvunometcr G, the free ey o

2’% Z ‘fb.\{
34 W

i ircuit sl

The jyen circu
of -l(% cm lengthuﬂx
sro reaging in the !
:::: be placed from Bat:

8 () 12 £

'M'— !l')t ‘;-J_..L
(%02 5\
R 7
: 8
1) 22em @ T
o toem & 24%
According to the Jaw of equipartition

number of vibratiog?l mod;q’s-of a

constant ¥ = EE- is (where Cp :
i = |

specific heat capacitie

pressu:e.and'eanstantv
4+ 3y bl
@ Fie=d (2)
4 =25
()R 7 @)
The output Y for the inputs Aa b given
logic circuit is : '_‘,’J
> e

1) AB
Gy A+B

decreases exponentially as Q= Qe ~R/4k, where
Qg is the charge att=0s. The time at which charge
amplitude decreases 0 0.50 Qg is nearly :
[Given thatR =1.5 €, L= 12 mH, n(2) = 0,693]
(1) 1901 ms .

®) 19014 )
teacly state current in the circ
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M.Eﬂa" 11
SATHIT S A (TR ) [ Section-A(CHEMISTRY) !
. LiBe B CH fere v foansit (pm ) 1l SENJThe coreéct dmins-vfdw’“w}#
; Wﬁ% - Li, Be, Band Cis : _ c
el BEC . ) Be>Li>Bsc Nl LiZBeE
) i>B>C Q) LizBe>BxC o~ (3) C>B>Be>Li (&) Li>C>Be>B
@ C>B>Be>Li (9 Li>C>Be>B —
_ 527 Following data is for a reaction betweer £=
2 SREFRFI A ST B % = sfafma F fau fefeataa and B _
sy Rate [A] (8]
e mol L~1s—1
oo [A] [B] 2x10~3 01M~,  01M
mol L™7s 4x10"‘-’> 02M4 ,0AM
2x1073 01M 01 M 1.6%10-2 02M- 02M 5
4x107° 02M 01 M The order of the reaction with respect 0 AandB,
16x1072 02M 02M respectively are:
A 2 B ¥ we SfafE F1 ], FA: E S?)f 12 @ 01Y¥
g a2 %) 2N
@ 1,0 @ 01 @
@ 12 @ 21 53. = Given below are two statements :
5 TR FERTIE ___ Statement I: Propeng on freatment with diborane.
B 5 Vit X2 _ gives an addition product with the formula
Fo 1 : 916 EEAE ¥ @9 s9eR W | (CHa),— CHB. v
((CHz),— CHY.B T3 a1 Heherd S Ao dl L :
: ' 3 f =— Statement II : Oxidation of ({CH;; )?-CH_}SB with
: 5 hydrog ide i f NaOH gives
T 11 : ((CHs ), CHL). B F1 NaOH #1 3ufeafa H . }}:g;:ﬁ_ezrj{femm e i preggnce of SOULRE LS
Z In the light of the above statements, choose the most
appropriate answer from the options given
=9 Feu M %ol % AR W, A9 fau e fasedt @ below:
T = A ; J&')/ Statement I is correct but Statement II is.
1) wEI "q'i"i ? ‘-’F—jiﬁﬁﬁ 11 T %I incorrect %
(2) TR 7 7 A 1 HE R w(9)  StatementDieERE SRR
= = p correct
() BEI AR A 11 EE TE ““(3)  BothStatementland Statement Il are corfect
@) TR AR maw 11 3H T 2| © (4) Both Statement I and Statement Il are
— incorrect
54, <R Afamrz . !
T 54— Baeyer’s reagentis: \
(1) @ refereg wame faaaa acidic potassium permanganate solution
2)  a=iE defem ZnEme FE acidic potassium dichromate solution
F R |
vy s e : 4, cold, dilute, aqueous solution of potassi
) %1 921, 79, T faera perfaiifi e f pota:
() dferm T %1 T, 9 e (4)  hot, concentrated solution of po
e e permanganate we
: e & for ) 1 Y -4 e . .
%) bt 55. Which of the following molecules hag b J
M co,  SNES 4 yi0Y ZERO dipolemomentvalie? AT
® co, (@) H Y$2Iyg S0 C04 e’ HI
AT @ BE Uy ¥ §*\ g co, @ B
M j » ) *—“f"\-' e\




R : i i St
» ol s
' W Clg/ ey ‘

i Sn/HE
| Tl NaNO, /1K
[ AR RN
vl K1

JH ¢

o ﬂ @ [ ]
e o
Cl l
Cally €M,
3) | e
\ \\\I # g’/ﬂ\fl
1 1

Wit ereisaes sl st ove % s d‘{T’IT‘F!

3 fg g w1 3qan R s & o ofe fag 60D
o uftaed g €2 o (-
(1) SRR, TS 9 e A 4
.y ) SR KMnO,, TR | et st-‘]'.'.("-’ﬁ
ol @ W R R T 3
7 @) Ofuw e, @ TEE- “"’Q$
S8 ﬁ—imqﬁ—ll%wmﬂﬁm: oot 58.
a1 g wexled
( Ty /31 ) (orent) MN)
A TR L SEgEd
TR
B WA L WE 18 H W o'
Y] iR e D
C s Ol WE 15§ SwEGH ST
E b T e a .
D. EE V. WacaH sasiEs {
T FHE -
Fr3 frm o e @ ORI 9AT:
(1) A-BLCIV,DI
@ ALBIV,CILDO
@) AILBIV,.CLDI
@) AJLBIV,CLD o
s, Seffandd R TR AR GO |

THE: :
Q) wREEgE e -
@ _whbE

[ £ L =
/J _ {1y Cly/FeCly
[‘ U (i) fin/ M
= e il
. (1) NaNO, /1
= M- TR K
[ (iv) KI
N,
i My
M LT\'&:Q\‘I 2) =
<

()

I
Which indicator is used in the titration ﬂg’#"di“m

hydroxide against oxalic acid and what is the colour
change at the end point ? (-2 "
(1) Phenolphthalein, pink to yellow
@’ Alkaline KMnO,, colourless to pink:
@( Phenolphthalein, colourless to pink
ﬂv‘ Methyl orange, yellow to pinkish red colour
Match List-1 with List-T1:
List-1 List-TI
{Atom/Molecule) (Property)
A.  Nitogen L Paramagnetic
atom ¢ %
B. Fluorine IL Most reactive element u
molecule pi. o
C  Oxygen M Element with highest
molecyfe jonisation enthalpy i
group15 |
D.  Xenon v est oxidisin:
atom agent- * 7
Identify the correct answer &om@ggpntnsgw n
below : _ o
(1) AL BLCAV, DI

;2‘ AL BAV,C1, DI



L |
w

. n [ _”k- Vi ITI\] - T ——
til‘ilﬁ W pfetie aodi 3 4 5 0 e wE asE [T60,  Whi I of the following pairs of ions will have same @
o et s me) g § spin only magnetic moment values within the
\ Zntt T i Crd+ el pair ? " T s
L llll' Oyt D v+ cut A e ', |"IJ‘ "ﬂ B (_‘..2+‘1792+ i/

A1 fig o feeed 9wt aee sy C I, Cu?t v DN e

M ¥Eecsihd @ WewAdD - (l'lnm)w the correct answer from the options given

) i - ( ‘l wlow AChY

()  WEE A SRB () THEE B . (1) CandDonly () AandDonly

fae) TT'"I .1-'“\ T e ar e, we  fen e e < @  AandBonly @/ Bmdgw j .

LR AL S ec "'_E v Cr § 61.  Atagiventemperature and pressure,

AL + By 2A4B, K, dle e ﬂ? al®, = constant values for the equilibria are

ALB s i, ol ol °F A2 ¥Ba AR Ky i
A R AL 3 s

2 3 4 7 A ——‘-—A_-l'—'B o

K, I i\: W e HEy § P 7 % 2 & K2 o
- K The relation between K, and Kgis <
n Ky = 2K; (2) Ky = ?‘ : _
: (1) Kf=2K; @ X=
| - | 2
1) ; i e
‘ R ® R @) Ki=-m W K= 'Jf' -
1 TKz % K1 . ¢
Ffrfa At 1 aemired § s e s . !
A %Y 1 =iy T | 62, Arrange the following compounds in increasing L
o S B % order of their sowchm
NaCl, CH4,OH, Arsgeadd, CHLCN " - NaCl, CHT,_OI--l,cyclohexane, CE'13CN
(1) NaCl<CH,CN<CH,OH <HEFARFT = (1) NaCl<CH,CN <CHOH < Cyclohexane
(?) CH4OH < CH,CN <NaCl < HEAAEA (2) CH,OH < CH;CN <NaCl <Cyclohexane
@ NaCl<CH,OH < CH,CN < TATSHAGHA W1 NaCls CHyOH < CHCNS Cyclohexane
(1) EwEAREE < CH,CN < CHOH < NaCl " () Cyclohexane<CH,CN <CHAOH <NaCl
S 63. Identify the incorrect statement about PCl5.
. & An e FHa Ty
L PO sl (1) PCly possesses two different Cl ~ P ~Cl bond
a) pcigd A f= cl-p-Cl SHE FAAE angles.
@ wfdEpP-Cl vy FAars H TEEAE A € | 21 Al ﬁEP—ClbondsireidenticalmlgngﬂL_ :
()  PCl spid TF aufa & @ PCls exhil.)its sp"fi h.ybridisa‘tion.
@) chﬁ‘ﬁa p_cl (ferm) A 7 (4) PCISconmtsnffweP—Cl.(pma)bunds.
o | 64.  Choose the correct statement for the work
s mmmm%wﬂﬂmmﬂmﬂ{ = ionaﬁd-hwa'xfn_s’?mb_h
mﬁmﬂﬁaﬁqﬁﬁmamﬁwﬁﬂﬁﬁcw dea
"

e 4 e 7 A S AN 1 TR S
5]

w741 fawed ’Eﬁ‘l ¢
()
@




(8
([L}
NGO,
o, i 1w | ar o) g
‘ .
1 H _ el ¢
-y ?l..ll-, | 2. 4\
i #
(A .2 P L B
@ A agsiitg sl
@ e e qrgaraii
() e e TR
66, STt A refafae A A sty affeita il A8
) g et i ?
m syt @ Latt eRtat
@) EBudt eyt @) pydt STt
7. o 2 @ et aifubea qin 67
(1)  CHyC0Cl —48s CHyCOOT
(UMr‘ O
)
E (1) LAY §
((\_u _m}}l_?u (C))
@ CHyCHoH - Kr"“]"l‘["*:“” ,('||.(.'(x-‘1l![
() CHACH,CHROH " SO CHACH,COOH
o8, Aearre sl % v ¥ TR s
Hu x B ¥ W Y el % et @ @ X 68,
iy w8
oy (1)  forEgEaare
q'(oc,“ (2)  HeEI Al § F
W gy e s d e § e
@)  Heaih o 4w f wE é\:_
e ¢
W oz O
¥ “35 %
= 4 (’3) mﬁtﬂmm
y @ -t fems )
.
M o
70, T o et 230, ot o
'qﬁuﬁiﬁﬂihihaﬁﬂmmﬁmmw o
@ 4,3

225

(“1)
0,44 g

@

(e pprreet (AL nadte oF Bhe topgg, . o T K
et o P el
F " :
N ' (1
C lo »
M
s ! @
- Aeothyl 1 fluore-2- nitrobenzerie
o * pthyl 1 luoro-6: nitrohenzens
('4'.} 4 ethyl-6flioro- -pitrobenzene (&7
@ | ethyld-fluoro- Apitrobenzens
Which of the following set of jons act as oxidiy, : )
agenfa 1 » .
o Cottand T (@) (attand L .
() pu? ! and ypit (4 BuZ* and T+ ;

Guluct the incorrect reaction among the following
= H40 -
(ly  CHs Ocl ——i———h CH4COOH

CONHy COOH

qor©

@) Cl'laCl"lel--l—‘ll%:é.o—“-—»Cchmﬂ

@ CHyCHCHR0H —SB00, Cr,cH,c00H B8

LAy

(i) Hy0

The UV-visible absorption bands in the spectra of

lanthanoid ions are ‘X!, probab! suse of the-

excitation of electrons involving ‘)

Y, respectively, are:

(1)  Broad and f orbitals
af2r’ Narrow and f orbitals

(3  Broad and d and f or!
(4)  Narrow and d and

fithylene diaminetetraa

@
)




ung

ising

3+
4+

ng:

OH
OH

a of
the-

and

%

.

=

ilm‘._f-.g'%_i":"_"J
freaferferd 5 @ Trev e gy .
(1) HX (X=F, Cl, Br s 1) Y #reer yaerm
frretfeter o =1 urerm i # .
HBr > HI
ST — 1 'ﬂTﬁFﬂ'F?'TI sraey) vefif weh &
s o= e 4 4 3, +5 &t +7
SRR -anunu_ it wefola a7

HF > HC)

(2)

F, i fertsm w-dedt c1, % favinrm wded 4
FHEI

@)
@) A SR A s et siffw B
4l
. g ¥ sfufE & feg

Na(g) + 3Ha(g) = 2NHj(g), AH = -Q

srfiaferan i femn H stimagEs e @
(1) S % S
@) N, %l Higd ¥eH |
(3) = 2@, 359 A9 SR S T 3= Higd
s
@ Iv4 @, frE e o, 1S9 Wigd W
m.  frefefag sifufEan w9 8 o qe1 98 D @ :
) . SOCl, KCN _ Na(Hg) c
o it ElOIl EtOH
erg-CcL (i) ’\hNOQ i) H,O
L
Cign Agq —NHe HCl
hush Cign CM3 WU
{H@T)
CHy—=C—H 2 CH NH,
(0] Sa @ 3\0‘/ 2
(3) CH,CH,0H @ CHCHCI
74, gER-1 % gEI-11 % Hie e i :

-1

(=T /2rrad AUl | 5HE) ()
A TEAES L Ce

B. d-sHisad . As

(5 p-ﬁ‘ﬁﬂﬁfﬁ m GCs

D. sl T . Mn
i few o faedi @ wE T 96

(1)  Ad,BI,CIV,D-

@ AJLBIV,CIO,DI ™

() ALBIV,CIL DI

(&) AIV,B-I,CIIL DI

15

71,

724

3

Tdentify the ine ur.r{_ttddh ment frorn the follow ing

(l#}/l I'he acie Ij free
€ strength of B

and 1) follews s K O t e Br
e ) tollows the ordes - HE > HCI S Hpr >

(2) Fluorine exhibigs —1 tidation state whereas
nti.\!:r halogens exhibit +1, 43, +%and +7
oxidation states also.

(@) The enthalpy of dissociation of
E, i smaller than that of C1, .

{4)  Fluorine is stronger oxidising agent than

chlorine.

For the reaction in equilibrium
Na(g) + 8Hy(g) = 2NH4(g), AH = —Q

Reaction is favoured in forward direction by :

(1) use of catalyst
(2)  decreasing concentration of N,
(3) low pressure, high temperature and high

concentration of ammonia

\@r” high pressure, low temperature and higher
concentration of H,

“The major product D formed in the following
e

wreaction sequenceis:
___soc, KCN Na(Hg)
OH > B——2> C
e aq. EtOH EtOH
(i) NaNO, | (i) H,0
HCl
= W
(major)
(1) CH;— @ %YNHZ
&7 CH,CH,0H @ CH,CHA

74.

Match List-I with List-II:
List-1

(Block / group
in periodic table)

Lanthanoid -
d-block elem:
p-block element
s-block element




i
3 Lk R 16 ,
) C,02 ' SYUTER ferrem Ei 75 Which of the following is not an ambidery,,
' ligand ? -
(3) 2)  son
NO; ___m/ 08 (2) SCN-
4) CN- '
7‘1 e - |
R L < - @ NOz 4y CN
YT T 3o < ol 2
N e e A A Y
L Rl ; - 76, Thequantum numbers of four electrons are give,,
i 'Il:z:'”r: =2 g S —_2 below :
sl ; 1
g 7 3 —_—— =5
I ”:3}1:2;””:]:5:"'% N L n=4;1=2m=-25= > &
ur ”‘_‘4}1’=1;m}=[);5=+% 1L n=3;f=2;m].=_];$'—._'+f2" A ).?;I' ;
reu g
1 = -3'.%
v, n=3:.’=];m,=—1;9=+~;— I n=4;l=‘1;m;=0;5=+'i é?
3 SRl 1 S Sl ol HE FH : el 4
1) W>I>m>I (@ I>HI>I>IV V. n=RiSr = Sl S
(3) M>I>0>IV (9 I=0>0>IV The correct decreasin of

electrons is : -'_t -
77. = d T SiNEa d geI SR C ¥ : s 0  VSm>I>I § mI>IV
_ e
CHLCR,CHBr Ol L W @) Mm>I>0>1V @ I1>0>1
A

v J Lo -l
(1) -3 @ SW23 . |77, The major product C in the bel
@ @ . :
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|ll:I,"|..-I||
T

et i A @E-E Ik $ ll i fteda

st ST T % ST ®?

’ /./
el @ el
— q/T— 1/ T—>
v
@) Ink @ wk|
— T T

8. & wrq_aeTeie e AT s o G e 1
sifeity &, i sEeich 250°C ¥ srda sTeEr &
W.wmﬂﬁw:ﬁﬁwaﬁ?mmﬁmﬂa{m
%‘PT[ X
@)  100°C R FH g 250°C WA
@) 250°C ¥ FH

| @ 250°C W
@) 100°C 3 T U SEH HH

83. 9 ) e feg Mo ®
asmlzfaﬁcﬁwumﬁfzﬁﬁmﬂfnm—w%‘l
Wﬂ:rﬂf{eﬁmzﬁeaﬁtmﬁﬁww%m
mmﬂqmﬁﬁ%ﬁ:ﬂlmm,ﬁﬁqmﬁmﬁﬂ
T ST =
) e | W % T U 1T ¥
@) A | T & g e 1L T
@) o 1 S e 1l o €1
(@ e 1 i e 1 R e

8, A o AffE S Mn g
iy S ¥ : nERr i e g

IMnO%; -
nC 4+ AT 2MnOj + MnOj + 2H,0

+6 B. 42 @ I

82, A steam volatile organic compound

Lo Ban- b

(8]
)

Which of the following plot represents {he variation
|

of In k versus T in nccordance with ‘Arrhcnhlﬁ

equation we AT b
™\ Y art. =M% Sy
. - /.r"

“) Inlw.I / (2) Ink

)} i /T~

M\Tk Ink

(@)
— 7 7=
which is.

immiscible with water has at bojling point of 250°C.
During steam distillation, a mixture of this organic

. compound and‘water will boil L =
(1) above 100°C butbelow 250°C.

(™J
W (@)  above250°C.

5 ey s

NG close to but below 100°C.

88, ) Given below aretwo statements :

“|" Statement 1; Glycogen is similar to amylose inits
structure.
statement I1: Glycogenis found in yeastand fungi
also. e

fn the lightof the above statermnents, choose the correct
" answer from the options given below :

Q) gtatement 1is true but Statement 11 is false,

\{2,)4 Statement Lis false but Stalen_]enl: ll mm.
r-~—"‘” Both Statement 1 and Statement Il are true.
(\|@ Dot Statement Land Siatement Therefalesi

s} The oxidation states not shown by |

T reactionis:
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¥l-=
- N 3
.l?f.‘z:*? Tﬂt‘;‘m\% : 18
. iy HHM 5 85,
'\’ LL-—_L R, ‘T‘TA T s e e e
¥ q]u{ 3 NN R fm wed
re  ww f@m Tt
=2 NN ;SR
36 3R wde g;“?‘*ﬁmmt el = (e
- &ﬁ-{fa@m%%‘ﬂa}ﬁzmﬁmmﬁ‘ﬂﬂ :
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Given Lelow are two qhatements

,"‘rtulvnwnl 1: The Balmer :ipwlmi line for 1y " \ ”- ﬂ
with 1ll\\‘l'.‘tl('l1l'l'!'.?' l_‘iﬂt\_ﬁl\_‘l‘t' al :“}.‘ll wem ! F 1. .-l

(Ryy Rydberg constant) f .
Gratement 11 When the igmpur_ahm- of '""“-'HN,,L :
InereqQses; the maxima of the curve (intensie, \,"_ E
mw(-.h:np,t'lﬂ shilts 1o sho;],ur_w_nvg-lpnm], 1 . I
{nn the lightof the above statements, choose e com, T
answer from the options given helow :

put Statement 11 s {y,

Statement 118 true
ot s false put Statement 11 is iy, ﬁ

I and gratement 1 are iy,
A Statement Iare 4,

()]
2 Stateme
Both Statement
Both Gtatement Ian

Section - B (CHEMIB"I"RY)
uence of reactions .

3
“)
Identify D in the following s€q -

. PR o Mg BHCHD 3
CHyCH,OH —> S —_—

o)
(major)

ﬂ—/ n-p_ropyl alcohol
(2) isopropyl alcohol \
(3) propanal
4 pmpionic-acid
Identify the incerrect: statement.
(1)  PEtyand AsPh;as ligands can form dw—d=

bond with transition metals. ik

The N—N single bond is as strong as the

@)



9.

91.

HEi-1 it - 11 -
YL Sse e (k] mol )
N FICH | 4358
B Na I 198
C 1§ 68 1l 946.0
D, O V. 4310
A R T el § w3 g
(1) A-ITL B-IV, C-1, D-II
@) AV, BLCIL, DI
@) AV, B, C-11, DI
@ AV, B C-L, D-I
Trfafias 99 % fou ame 99 fova
ZnlZn? T (aq)|[Fe2* (aq)|Fe 90.
032V ©1 sAfufsean & foe A fiest Sl ufes
iR e :
Zn(s) + Fe2 * (aq) — Zn* (aq) + Fe(s)
(T = &1 F=96487 Q)
(1) —61.75 kI mol—! (2) +5.006 k] mol =1
(3) —5006kjmol-1 (4) +61.75k mol !
it - 1 <61 g - 11 o W far it : 91,
Tt -1 el - 11
79 H,S0, % WY aAtufeiia
IOE B9 ST FOTEA
A TR T E A I NOz
B, TS FTAEER L COF
T
C v % g m 8%
D. WA V. 503
3 fru Ta fasredl 9 HE ST gAY :
(1) AL B-I0, G-IV, D-1
(@) A-V,BILCIDI
(3 A-L BT, G-I, DIV
(4) A-LBILCLDIV
92. AgCl @l 0.1 MKC e ¥ e #iR AgCl &l
1 3 e 1 SR ¥ | %2
(Fr & : AgCl 1 TR THER=10-10) ()
@ 10°% @ 10-° D
@ 10°° @ 105
93. ViAW, UF HE T AH F 03 g, CO,F 028
A H,0 % 0.1 g TR ﬁﬁmﬂm&aﬁiﬂ@@ i
1 G A A :
M 407% 3 15.02% ;‘.?‘ l
@ 1818% sagoy TS Lo
B)  15.02% 3R 4.07% 2EY
@)  370% @ 18.18% B .

PVEATCR LABE=0 ity Last=11 W
Liatl List11 Y
Molecule Bond enthalpy (k] mol J, e
A (N ) 4555
14 N n Il A4H
( I Il 46,0
b Mol v, 4310
Choose the correct answier from {hie options given =%
below —ne 0" catt! 19
()  ANLBIV,CLDI  _gw fan ¥ q‘;‘:{ﬁﬁ
(2) AV, B, G, DA 1% %
(3) ATV, B, L D Lo @
(@) AV, B, G DA f_lq .-‘-i'?-/”

e standard cell potential of the following cel)
Zn|Zn? f-l’tl)llll'i.':: t (aq)|Fe

is 032 V. Caleulate the standard Gibbs energy
change for the reaction ! pin=-nk
Zn(s) + Fe? * (aq) — Zn* * (aq) + Fe(s) = 28 AP0
(Given: 1 ['=96487 C)
+5,006 kJ mol ™!

W —6175 K mol-! (2)
®) -5006kmol-? (4 +6175Kmol”’
Match List-I with List-11:
List-I List-Tl
Solid salt treated with  Amion detected
dil. H,80,
A.  effervescenceof colourless L NO3
gas . -
B. gas with sniell of rotten e CO._%"
("gg f
C.  gaswith pungent s_rn,g.‘ﬂ sS4
D. brown fumes.. . * V. 50%‘

Choose the correct answer from the options given
below :
AJLBILCIV, D e

(@) AV, BILCI, DI
@) ALBILCULDV
(4) AILBILCLDIV

Theratio of solubility of AgClin 0.1 M KCl solution
to the solubility of AgClinwater is:

(Given : Solubility product of AgCl= 10-10)

1) 10-4 @ 10-8

@ 10°° @ 107>

On complete combustion, 0.3 g of an organic

compound gave(.2 g of CO,and 0.1 gof H,O. The
entage compﬁiﬁroﬁﬁégbnn and hydrogen in

the compound, respectively is : S -

(), 407% and 15.02% rowe ¥ 9g
18.18% and 3.70% A Wwn

() 1502% and 407% =

@) 370% and 18.18%
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. XS e 6 i 2 Y b
T ¥ 3 A STER KMnO, | | ; I :
w1 Yerefer § aiia B S wehdt ¥, ¥ ' g5, Thealkanc thatcan be oxidized o the m
51 = alcohol by KMnQ, as per tha et OFfChpony, )
R @y ki 2 Zesuaten Iy, ;
| R, ~C—OH -~ f1 kmnoy [t ' @
ks L, O r,-C-H - RynCOH "
(1)  Ry=H;R,=H;R ' R i
Ry =H; Ry=H; Ry=H 2 I
g E' i(—:l'l.‘; K3=Cl"‘i_-1: R, =CHy is, when % 102 f
@) SRS e Ry=H (1) Ry=HiR=kRy=H 4
1=CH,; R;,=CHy; Ry=H w2 R CHy R =CH.y 0
9. 300 K W e st ¥ fan o R — Gy Ry=H; 1{;4;1’ CHy ;
Aofg) +3B,(g) = 2AB(g) ' W R)=Cil;Ry=CHy Ry=H (
n{}ﬁi'ﬂlqmﬁaé: ]+ 15K] %,ﬂzduaﬁm o e (R [ 96. i:\m' the following reaction at 300 K 103, T
@) 1] O e M ”
e e change i ;
97. Tt siffRan % 500 K T 700 K T8 A7 ferih energy change ;,E__ge is +15 k], then the intern,)
9 00451 AT 014 s F1 T Afub P, (D) '19988.43' -
afra Tl & = il P | (3) 1999 ] (2‘) 200)
(feA % : log 3.5=0.5441, | 97 I Rate consta @) 19968k
= A A g = y et S It £ A
(1) 182310] ’(zz) 831) K-tmol=!) | % [],045—1:n;0m‘1(f aeachionat SEREIATI0 K
L i @ 33323} «— energy of the r'ea:;io; respectively then, i_:cliv;g:.,
ik W (NI'{ZCONIlg) é‘,‘ 15 g L1 fem !N;} (Giveﬂ:'log 35:0‘54;:-11"8. -
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104.

105.
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Section - A (BIOLOGY : BOTANY)

The regions with high level of species richness, high
degree of endenism and a loss of 70% of the species
and habitat are identified as :

(1)  MNatural Reserves

(2) Sacred Groves

(3)  Biodiversity Hotspots

(4)  Biogeographical Regions

Which of the following simple tissues are cnmmon!\f
found in the fruit walls of nuts 2 and pulp of pear ?

(1) Sclereids (2) Fibres
(3)  Parenchyma (4) Collenchyma

Inachromosome, thereis a specific DNA sequence,

responsible for initiating replication. It is called
as !
(1)  recognition sequence (2) cloningsite
(3) restrictionsite (4), orisite

Sl

Given below are two statements ©

Statement1: When many alleles of a single gene f
govern a character, itis called polygenic inheritance.

Statement I1; In Polygenic inheritance, the effect of
each allele is additive. v

In the lightof the above statements, choose the correct
answer from the options given below,

(1) Statementlis true but Statement ILis false
(2)  Statementlis false but Statement I1is true
(EL Both Statement I and Statement Il are true .
(4) BothStat it Land Stat

t I1 are false

Which of the following are required for the lhight
reaction of Photosynthesis ?

A €Oy B 0, ¥
c  H0 ¥ D.  Chlorophyll V¥~
B Ligt V7

Choose the correct answer from the options given
below: i

‘m/r A,C, Dand E only
(2) C DandEonly
(3 AandBonly R
(#) A,CandEonly M
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C1 22 o
06 Match List-1 with List-11: , ‘
106, FE-1 1 GE-11 3 GAfed e : 106 List] List-I1 411
; Disc shaped sacs q;
getl Sl e : cisl'ematf neardctu' 3
A TIHT L WW¢W nucleus
fewh 3AhR =1 dferai = 5 Robert . Chromatin
f-g@-"ﬁ () . ; Brown .
B. Fadarsd L Fmfe C Gemge Ribosomes
B Palade
c  weER m TR : e W i
D.  hfEE v, HEdh G Golgi
et 1) (Cnoose the correct answer from the options give,
ﬁﬂ%ﬁaﬂﬁﬁﬁﬁfﬁﬁuﬁmﬁ: {3 below:
@) AJILBIV,CILDI = 7 ALBIV,CILDI 112
()  AILBILCLDIV ' @ anBmCLDIV '
() AJLBI,CILDIV ) ALBLCILDIV
(4) AIV,BI,CIILDI @ AIV,BILCILDI
107. gﬁ_[ﬁ@_u q ﬁqfaa@m . 107. Match List-I with List-I1: ; e
s o List-1 List-IT
2 Type of Inheritance Example
afgmfer & YT sl A.  Incomplete L  Blood groups
A g e L bR et A dominance in human -
B. HEwuIad I wfEE Y 1 _ B. Co-dominance IL Flciwer =
. ; el e colour in
C %HW M e H A T A i 1
D. s e V. fee@Pafa «f— C  Pleiotropy IL Skin colour 9
4 o T feed B @ @ IR A : . in human 'l.
(1)  A-ILBIV,C-IL DI D. {’rﬁi}’g_etaﬂli: IV. Phenylketonuria F
ET1] (alz3

() AJILBILCIV,DI .
) AJLBILCLDV 1 g:loose the correct answer from the options given |
ow : '

(4 ALV, BLCIL DI
(1) AOLBIV,CI, DI

108, ISI7S FHH H YE GiEd @ geEl H SER @ AILBI,CIV,D-II
FIAE ? : (@)  AJLBINCLDIV
(1) iEEE @ s 4  AIV,BJ,CIN,D-I
(@) e - 108. ;
) @ e mht:r?algiﬂ of the ovule stores reserve food
109, frefeifisa o : s : ‘
z ljﬁq T, e (SRS ) H_ B Nucellus @
o o 7 ©® Placena e
e ) Funick
a @) Wm:::m Which one of the 4
@ afe @ afem T Cymnospermar following is not found i |
: M @ sic
110, gr::rﬁfﬁaa 3 § I T S T s s @) ?::c‘;‘;eg: (2)  Albuminouscells |
. ._ | o B @&~ Vessels
(1) A S < * Which one of the following is not i det
(2) . A SE L;{(?li;ﬁm'?"f‘?’ervaﬁun? e B
() SosadEmas \ ;ﬁ’h{iﬁ”‘w“’?
- Aas o v A a ]
@ THATR iy féi; Bmphmm
5 P collegeduni
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YT 1: W HIFHR T GEAC (Sfigust) =1 s =t
& it fo St U 20 BT e o6 ferge 7 oo S0
e 1L < SIS o Hesf Ter S g Sifosh
el YT i W R
Wm%ﬁmﬁﬁﬁm@mawﬁ
IR I
(1) HITLEA & T w9 &
(2) RETIAEA § T HAT T
@) AT SR HEH I T E
(4) YT R HAT I S e
(12, T UL, STANH o w9 H oy Sufeerd o
e T 8 2
(1) =" o= (@) 2R
@ = @ @ e
113. Teta 7H il T
(1)  TEEEET = afet=d
() e - SEIRRE
@) HEargE : weeid -
@) e - RIS Ao

114. ﬁmﬁf@aﬂaﬁvﬁmﬁﬁamw%?

1) Ty frzs, e, e

@ e FifeeT, gHaeE
Rl s

@) SEEE e, TP,
THIH,

(@) fSreEE sFEIHies, 1, Tfeden

115. mﬁ@(m%aﬁ)ﬁqumé?
forga & 9 A FA A T E
FI 1 : T § o T T WS Sifere <

B e i R i S B GeE Al |
T [ : STR T T IeTHLs, SAFea & AT e
‘Rho’ % 3 A9 AT €9 H el & |
I el % ded 8 e fed e 4 )

T : ) A
(1) HYTLT & T ho 1 T & N
@) HYAI AT § T FHATIFA & 3
@) wgA1 AT FIT S T E e
@  wETISR e 1 o € ~{

6. frefafaa & ¥ 7 T FfFEeEs €2
O e 2) Eﬁﬁf@ﬁ? EiL|
@ TEFEH @

111,

c1

Given below are two statements :
Statement [ : The Indian Government has set up
GEAC, which will make decisions regarding the
validity of GM research. ~—

Statement I1: Biopiracy is the term used to refer to
the use of bio-resources by native people.

In the light of the above statements, choose the correct
answer from the options given below :

{-’ﬂ" Statement [ is true but Statement 11 is false

Statement I is false but Statement 11 is true

)
(3)  Both Statement I and Statement Il are true
(Y] Both Statement I and Statement II are false
112. Pollen grains remain preserved as fossils due to the
presence of :
(1) Epidermallayer (2) Tapetum
3 Exine layer (4) Intinelayer
113. Identify the incorrect pair:
' Sphenopsida - Adiantum
(2) Pteropsida - Dryopteris="
(3) Psilopsida - Psilofum ~~
(4) Lycopsida - Selaginella v
114. Which of the following is the correct match ?
n{‘l’)/ Gymnosperms : Cedrus, Pinus, Sequoia
(2) Angiosperms : Wolffia, Eucalyptus,
Seqguoin
(3)  Bryophytes Polytriclhunt,
Polysiphonia, Sphagnunt
(4)  Pteridophytes :  Equisefum, Ginkgo,
Adiantum
115. Given below are two statements regarding RNA
polymerase in prokaryotes.
Statement I : In prokaryotes, RNA polymerase is

capable of catalysing the process of elongation
during transcription. \ '
StatementII1: RNA polymeraseassoma{aetransienﬂy
with ‘Rho’ factor to initiate transcription. /

In the light of the above statements, choose ﬂ';ecdn’éet
answer from the options given below :

W@~ Statement is true but Statement I1is false
(2)  StatementLis false but Statement Il is true
(3)  Both Statement I and Statement I are true
(@)  BothStatement I and Statement Il are false

Which of the following is a nucleotid:
(1)  Uridine X2y~ Adenylicacid

(3) Guanine (@) Guanosine
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s W“i el 1l i y
% GLACAIS i Tk th List-11:
W d m OF):\"I—T)'IQ % 117. Match List II wi A i ﬁ'a‘(
A ¥e
Tt Het-11 o L Brinjal
A itad . il vertany A-
= SRR A L ST apstivation 0
EE‘F’IE eac
N p.  Epipetalous & B.
T stamens °
B T@mdRR O L S ;pipthmw M DPea
- 5 ¢ Epiphyl o
C IieEFgR® I A farnexs y 3
I i i e v, foet D.  Perigyneus V. it
e : flower !
i farmedi # & wé ST 9 : Choose the correct answer from the Options iy, D
(1)  AJILEBILCIV,D-II ; below :
() AJILBIV,CLD-l @ A BLCIV, DI |
3) AILBILCLDV @ AILBIV,CT D-II =
(4) AJLBLCIV,D-M @ AILBICL DIV ((
. e 1 B-1 G-IV, DI
118, FeR-17) -1 & GHE HI: @ ALBI (
|
-1 i 118, Match List-I with List-1L:
A EENAS I o List-1 List-IL 122.
B, T L HER A, Chinarose L. Free central ;
c e m & B.  Mustard .  Basal
D. i@ v, fEE C.  Primrose O Axile ‘
refefis fomed] 1§ Ta I 9 : Marigold IV. Parietal ,
(1) AV, BILCI D “E ES:TE the correct answer from the options given
(2) A-ILBILCIV, DI e,
(3) AJILBIV,CIL DI i -1V, B-III, G-I, D-
4  AJILBIV,CI,DI () A BILCIV, DI
: € AILBIV,CLDI
119, fefafe 5 H 1, e AfcEae 4 2 e @)  A-ILBIV,CI, DI
T TE 2 7
(1)  TEEE R 119, ;ﬁisch of the é;)].‘lowing HGips inttnihianance of the B 123.
. ure gradient in si :
(2) = e T in sieve tubes ?
. albuminous cells
3) e R
: ; (2)  Sievecells
&) FER T ;
120. Wmﬁﬁmw%? - W Companion cells
1) fastEr : ATy
E; qiesH] T 120 Mesosome in a cell s 3 :
) T THT mRNA § g . SR e
; S agi?ﬂﬁﬁkhﬁ mMembraneg bg s 4 08 _
e ¥ D @) chair 1of m @d gl 5y
(@) ST et 35 e & st e ) mRNA. Y Tibosomes attached toa single
" O T [0 R el studiure formed b

colleged uitEe

mtiy's Largest Snudent 3
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ﬁa}nﬁw 11 9 H e =i
get-1

A uafafas o L

B, afufed I,

c faeifes 18

D. HIEEREMAT V.

?ﬁ’r—u

T H A& g

S T &

{511 1 IR o

FAE

TiSeh| o HEeTd |

e, TRt

STIfg | sifeet i

A o T e | & we se i :

(1) A-JLBAI CIV, DI
() A-ILBILCIL DIV
@) A-LBICIV,D-II
(#)  A-LB,CII, DIV

122, FE-1 0 -1 S i Hif ;

Geit-1 EIT-11
A gEfE: e 1 S fafee
S SHeT
B. i UH FHH I £ F
C U . UFs efae
e
D. =UG AR TAT IV, sfqeq giifaeag
= fe 73 Taspedi & = W 39 90
(1) AL BI,CIV,DI
() AIBLCIV,DII
() A-V,BIICI DI
(4)  AJLBIV,CI DI
it-1 1 Geit-11 & FAfe His :
Teit1 -1
A  ETS®™@adl L NADH
SRS
B, EISHmeEal I WEHEbG
EISHMeEEI [ HEeEm C
Al S
D EISHEEELY V. TEdHe

A fedt 7 foredl B B HE I g
(1) A-IV,BLCIIL DI
(2) A-LB-IV, CIL DT
(3 AILBLCIV,DI
@ ALBILCIV,DII

€1

Match List-l with List-11-

List-I List-11
A Abscisic L Promotes
acid female -
flowers in
cucumber

B. Ethylene 1. Helps seeds to
: withstand
desiccation
C Gibberellin I  Helps in nutrient
maobilisation <
D Cytokinin 1V,  Promotesbolting -

in beet, cabbage etc.
Choose the correct answer from the opfions given
below :
(1) AL B0, C-IV, D-1
(2)  AJILB-ILCIL DIV
@Y7 A-LBLCIV, DI
(4)  ATLBLCILDIV
Match List-I with List-1L:
List-1 List-Il
A Genetically L  Genetherapy
engineered Human
Insulin
B. GMCotton oI E. coli
C.  ADA Deficiency L Antigen-
antibody
interaction
D.  ELISA IV. Bacillus
thuringiensis

Choose the correct answer from the options given
below :

(1)  ALBICIV, D1

(2) AJILBLCIV,DII

(3)  A-IV,B-IN, C-I, D-II
@ AL BV, G-I DI

Match List-1 with List-11 :

List-I List-11
A ETSComplexI L NADH
Dehydrogenase

B.  ETSComplexIl . IL Cytochrome bC,
€ ETSComplexIll T Cytochrome

Coxidase
D ETSComplexIV. V. Succinate
Dehydrogenase
Choose the co i
S rrect answer from the options given

(1) AV, BLCII D
" ALBIV, Car, D
®)  AmBY v, D

(4} A-l B-ﬂ (@ IV
v A, ,D‘I“
” Lolle,geduma

2t Sruddent vk Patlorm
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126, = =1 FyA fel T E
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ST U T IS o H1e SR ISR ST A U e st
i A

| 11 : THIANeHE FeF § U8 96 9 dH1
TR T T eyt = yfien fa=-foms 2 2
TP FH % Hey | i ol e § O wd e

EGLE

(1) T § g o 1 S0 ¥
(2) HETIHHA T TG FITUTA &
(3) HITIACHIA T T

() RITIARFHIR [ H e &

{ 127, elt-1 1 Geit-11 & gifer =i -

" ;g;l TEI-11
J T L ST e

B ks I

C  IHEfm I 1o ST e
il D. & 1v. Sﬂmqm%aﬁ
.' fame €t o
? 19 728 73 e 49 el o iy
1 % i—w_, B-I, C-I1, D-1 ‘
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ueis used for :

128+

reservation techniqg
ection of env ironment.

ection of Biodiversity hol';&;pm_ri_
ametes in viable and fey;;
period.

Cryop

(1)

2
N

124.
L Prot

Prot
Preservation of g
condition for a Eqng
_sifu conservation.

(4) In
ing are correct about cellufa,

= Which of the follow
respimtirm ?
A Cellular re
bondsj of cm]:f/
ddation.
?‘Tmf;rl'nlire cellular respiration takes place in
Mitochondria.
Fermentation takes place under anaerobic
condition in germinating seeeds,l
The fate of pyruvate formed dl_m.ng glycalysis
depends.on the type of orgapls:{n also. v~
Water is formed duringrespiration asaresult
of O, accepting electrons and getting reduceds

Choose the correct answer from the options given

below !
A,C,D,Eonly 2
-—=(3) ABCE only (4)
Given below are two statements :

125
spiration is the breaking of C ¢
ex or anic molecules by
],/ 6 Y

D.

W 1

A, B,Eonly
B,C. D, E only

126. =
/~ "Statement I : In eukaryotes there are three RNA
7 polymerases in the nucleus in addition to the RNA
= polymerase found in the organelles. v
— —=Statement 11 : All the three RNA polymerases in
% =eukaryotic nucleus have differentroles.
ah 'I]n the light of the above statements, choose the correct
~=answer from the options given below :
(1)  Statement I is correct but Statement II is
incorrect
(2)  Statement 1 is incorrect but Statement II is
correct
(3)/ Both Statement I and Statement I are correct
4)  Both Statement I and Statement II are
mcorrect
127. Match List-I with List-II :
List-I
Histones

List-I1
Loosely packed
chromatin
Densely packed |
chromatin
POSiﬁV_e]y
charged
basic proteins
NA wrapped
around histone

L

N'lldeo'some

IL

Euchromatin m

AMLBT Ay o
LB C1v, 1 g |

P collegedunia: |
P
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129,

@ foe (feid)

(@) ez ()

130, -1 -1 Ao Fe
gelt-1

! eI
7R Sl TR | A
TIRA

(i) vid W e

il 4
oA

A

T foreg U
e 4 Lo Bt

T farg, ORI A
5 siier 2L B ¢
fronE THEY St 5
7O TR ek ©
v 4 T S T
WWWW%
forad T 1 A BRI
i e ST g T A
©

e fory 1) Feyes B © R I AL :

(1) AL BLCIV,DI *

() AIV,B,CI,D-IL

@) AJ1BI,CI DIV

(%) AL BII,CIV, DI

it < a7 51 e 2 S 6 21 AR 5 0
T = T A 6| et H 8
T 51 St T B 2
('1.; c-C

3 c-0

II.

STsIg A

ezl ORI

131.

P-0
C-N

130.

e

N

=

1-:!-

Given below are two statements ;

% Inthelight of the above statements, choose the correct

fone®

.rj‘lalli:ﬂ"f.“l L: Failure of segregation of chromatids,
during cel l_g:ych_‘_n-_-s_ulting in the gain or loss.of whole

set of c!:u'umos_ume in an organism is known as
aneuploidy. oA . ) :

Statement II : Failure of cytokinesis after anaphase
Stage of cell division results in the gain or lossof a
chromosome is called pu!\_fpl\uid\’.' ‘}C

answer from the options given below :

(1)  Statementl is true but Statement 11is false
(2)  Statement I is false but Statement 11 is true
(3)  Both Statement I and Statement 1 are true

Both Statement I and Statement 1L are false

Recombination between homologous chromosomes
is completed by the end of : ;

(1)  Diakinesis

(2) Zygotene

(3) Diplotene
Pachytene

Match List-1 with List-11.:

List-I List-TI
Metacentric I Chromosomehasa
chromosome terminal centromere
Sub- I Middlecentromere
metacentric forming two equal
chromosome armsof

chromosome:
Acrocentric . Centromereis,
chromosome slightly away.from
the middle of
chromosome -
resulting into two
unequal arms
D. Telocentric V. Centromereis
chromosome situated close to'its
end forming one
extremely shortand
one very long arm
Choose the correct answer from the options given
below::
(1  AILBI, C-IV, D-IL
@) o BeLY B-1, C-IT, D-TIL
@) Al B-1I, C-II, D-IV

Wy’ AJLBAILCIV, DA

Ligases is a class of enzymes responsible for
cata‘lysmg the linking together of two compounds.
Which of the following bonds is not catalysed by

it?
(e =G g r-o
SR @ C-N

collegedunia
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B.
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134.

B.E
B,D,E

ACD
A,BC

)
(C)

Wﬁﬂ@ﬁﬁﬂ(ﬁgﬂm):};mﬂﬁqw

FUA A 7

1)
(]

®)
@

135.

e ge AT T e e E g A, A
oSk ek en il

e g S e e 3 g A g |
a1 =TT €

EHUHT % EUE THIE #l ST e 2 |

RIS S F1 Fel 99E SLEHT EWUel &
g AT AW
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132.

. Given

[HingisE F;]

allus proliferated frop
F. 5koog observed thatc i th
internodal segments 0 of tobacco stem when ay,
was supplied with oneof the following except

Extract of Vascu lar tissues

i

(64)
(@)

Coconut milk
Abscisic acid

Yeast Extract

below are somestatements about Plant growt,

1

regulators.

AJ!GAsareamchmnattwe v

Auxins are antagonists fo GAs. )(

Zeatin was jsolated from coconutmilk.

Ethylene induces flowering in Mango-
Abscisic acid induces parthenocarpy.
Choose the correct setof statements from the options =
given below T .

w7 ACD @ BE
@ ABC (4 BDE
: i
Identify the incorrect statement related to gellgi|
electrophoresis. |
m&d DNA fragments can be directlx‘
‘seen under UV radiation. ! :i‘
(2)  Separated DNA can be exttacbed from gel ‘
piece. X
I8
{3) Fragq‘mt OmNA moves towardanode.



T AwrT - B ( STefem : seefifagm) .
\ ; Section - B (RIOLOGY - BOTANY)
s R . 156 o
130 : B 3‘?&?{? T fee ) 4 1 . Given below are two statements -
FaA 1 r'ia'v_ . 1 I:? i A ZA s e =h T‘(T‘ﬂl Statement I: In the lac operon R o P
72 Eh”(dif @ 3?' o wrefis =y T e i e beta-galactosidase _\»vh'u_'Li'l is p’rin:huf—iilv; ':-i;::"“;;;i
¥ TR H Siel ST + o St & [:;' _“‘_C hydrolysis of lactose into galactose and
0 11 SIS 6 ST, o A ) ,‘;m 050,
jieton R % & Statement I1 : In addition to lactose, glicose or
é __ R e galactose can also induce lac operon.
;*T{T:ﬂ 4] = HeM H A & 13 faweui © | w8 In the light of the above statements, choose the correct
Wik St 9T : answer from the options given below :
() FATITH 2 vig a1l s (1) Statementlis true butStatement I1 is false
o) U] FEA & Nt (2)  Statement] is false but Statement I1 is true
@ Al T HAT [l_?ﬁ’f ¥ (3)  Both Statement I and Statement I are true
@) yahe e - (4)  Both Statement 1 and Statement Il are false
R I b ot e o) 137. The part marked as ‘x’ in the given figure is .
137, 189 4 i ¢
ns
m e = (1) r-‘._ndlus‘['.}erm (2)/ Thalamus
) @) W el : (3) Endocarp (4  Mesocarp
1 138, & e R T E 1—‘18 Given below are two statements :
O+ FetoTr et s7eerey T F SweT e St;?temex}t I: In a dicotyledonous leaf, the adaxia]
i = : : e epidermis generally bears more stomata than the
= g § e s T A abaxial epidermis. X CRG ey
! o 11 afrorel weft , apvaey feorq Sieiie e Statement I1 : In a dicotyledonous leaf, the adaxially
T FHIYTERTS 2h1 =1 BI & Sil T3 Staiey w9 H Uk placed palisade ‘parenchyma is made up of
T o wer e B E elongated cells, which are arranged vertically and
% e 'q’“:% - . parallel to each other.
S ol % werd A 1 T fowe 9§ Wl In thelightof the above statements, choose the correct
B AT : answer from the options given below :
(1) ]G & G BT S © (1) StatementIis true but Statement ILis false
7)  THYALATA € T S 1 TA Statement I is false but Statement Il is true
(2) T 1T
@) @I AT A g E (3)  Both Statement I'and Statement 11 are true
@ I e 13 sEa [ (4)  Both StatementIand Statement 11 are false
139, frmffiaa A & SiF g o7 T 82 {139 Whichof the foll‘pying are not fatty acids?
A fi B I = A, Gluta.n_uc a:;d B. iacé;;:?; acid
c o D. P = = Palm.lu.c acx. D. il
B ” ' — E Aspartic acid\"
: == Choose the correct answer from the options given
o feat 7 el 0 @ ST AT L pelow:
() FACDAE (@) HoIANRB =1 (1) CDandEonly (9 AandBonly
() WFTADHRE (@) FaABRC \@ ADandEonly (4 BandConly

%
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141.

TR § forafi S s 3T & 7

(1) ADP @ NADPH

@) O, () ATP

RISt S s A T S € TSR

P TR R I R S S e €2

) fRsn sl @) fenugl

@) femsdemn (@ FELIEEI

freafenfia & & i o, wRICRER RS
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i HE AR 2
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142.

143.
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Al
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140.

144,

e Ty,

yramid of energy of an ecosysie,, |

CDI‘s;dEI‘ the P
below :
gwen l 0 oo

|0 0o° o
1 opooD

=7 Oﬂﬂ],whatisﬂlevalueat'r].i
[FT4is equuvalent to 1000 e L
s @ 5 xY
@ 10000 ] @y~ 10,00,000]
Whichone of the following producti diffuses outof
chloroplast during phatosynthesﬁADPH .
ADP )
o (@ ATP

normally ".Y_‘:'-‘,:.sl“ﬂ

DNA respective _

_ Hind I, HindII (2 fpndeux

@ HindIL EcoRI (4 HindI, BamH]

Which one of the following is not a limitation of P

ecological pyramids ? B

(1) Saprophytes are not given any place in 1
ecological pyramids. “~~

(2) Itassumes a simple fmﬁ# chain, that almos: |

never exists in nature.
B‘)/' TItaccommodates a food web.
(4) Itdoesnottake into account the same species
belonging to two or more trophlc levels.
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148, 59 U iAol O HeX % 9iH S SiE
FIE] S € T T8 Fefafay Safd s w5 e
(Y1 5 e = e
® Fier s o o= o |

SR U9 % SHiHeEY Sl eag |
(1) TRr ; (@ TRR

19, FER-131 @—Hﬁgﬁﬁm%‘fﬁm:
gER-1 -1 .
A deffu@meEewe 1 AeEHEE

A EE W .

B @ IL & 3

: 2002 =
- C e m R

B

e fory 7y el H @ W S AL
| AV, B CI, D-III

A-I1, BT, C-1V, D

A, BV, CHIL D-II

AN, B-1, C-TI, D-IV

147,

148.

149.

catalysed reaction 2

c1
ing graphs depicts the effect of
ation on velocity of enzyme

Which of the follow
substrate concentr

Substrate
cancentration (5)

Sut strabe
concentration (5)

" Substrate”
concentration (5)

coneentration {S)

When will the population density increase, under

special conditions ?

When the number of

(1)  deaths exceeds number of births and also
number of emigrants equals number of
immigrants:

(2)  births plus number of immigrants equals
number of deaths plus number of emigrants.

(3)  births plus number of emigrants is more than
the number of deaths plus number of
immigrants.

(4)  births plus number of immigrants is more
than the sum of number of deaths and number
of emigrants.

When a tall pea plant with round seeds was selfed,
it produced the progeny of :

(a)  tall plants with round seeds and

(b)  tall plants with wrinkled seeds.

Identify the genotype of the parent plant.

(1) TeRe @) TR
(3) TIRR @) TIRr
Match List-with List-IT:

List-1 List-IT

A. Biodiversity L Khasiand Jantia hills

hotspot in Megha.layal
B. Sacredgroves IL  World Summiton
Sustainable
Development 2002

C.  Johannesburg, IIL Parthenium

South Africa

D. Alienspecies IV. Western Ghats

invasion

Choose the correct answer from the options given

below

AV, B, G-I, DI
@ ALBILCL, D1
@ ALBIV, CIII, D-IT
@ ALBLCOLDWV
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ntify the differentstage, |

S0, Ay 32 venfigure. [et Y 0 rrect option 157
: 2 opve the 5 . by selecting ption -
@mmﬁm1 fafir= ararenatl W @ | 150- If;b;ﬁr:d withalphabeS DY = e '|
3?‘—{-“@- 3T ﬂﬁ{q : A HO ‘
.ﬂtr}oﬁphelc |I
/%mm\(mamp
ADP. ! A:“ A
\/ N
ATP
ADP
3 I pl.-i-i\':uw‘
B+ NADP! Sucrose, starch :
e, 6) A—Caéb“ipg‘()llittion, B-Regeneration,
@) AR B C g @) i__lxeduction, B-Decarboxylation, .
@) A-STTRE, B SrmaReR, GG Saed C_Regeneration _ -
@) A-PEIEECRE, B- ST, Cg: SR § Cooboxylation, B-Reduction,
g e ey, G- SIe iy (C-Regeneration .
(4) A , B % X (4) A—Redudioﬂr Br—Ca.l'bOXY]-ahom
SN - A (shraferr : WforfeRTT ) _ C-Regeneration
151. ﬁ_[ﬁ@_“tmqﬁﬁﬁﬂ: 4 Section-A(B'lOLOGY:Z-OOLOGY]
gt -1 gt - 11 151. MatchList-1 with List-II: o
F | ljst-l ]
A Tl . “ A Predator L -- Ophrys
B WhEME L YEERR B. Mutualism IL  Pisaster
C e L HiEl s U S C. Parasitism, IL * l;)t;_‘male;iwasp and fig
D. Sexual V. asmodiint
D dfmEsR V. ©vEieTd L
et sl 4 Wl S T AT R ¢ Choose the correct answer from the options given
(1) AILBILCLDIV below :
@ AJIV,BLCIL DI (1) AJILBI,CILDIV
@) AT, BILCLDIV (2) AV,B-I,CI,D-IIT
@) AJLBIILCIV, D (3) A-LBILCLDIV
- @~ AJLBII,CIV, D]
152. G- 151 Gl - 11 3 e e o - MEL: 7 R
iy
e et -1t l List-1 Listr
whrat Rt e O b }Qcahon_cf]oir;t Type of Joint
A ﬂ%mﬂw L fordt st <~ }:"“;'i:net:eeg L Glidingjoint
- X | o Tjpp— : £ and , i
BT L g e wi é:; I
C TN S M e Y e € Jointbetween atl I Ball and Socketjoint
Ay D e Hinge joint
D. ral % ee iy V. e o D Joint betyye -\?
et ol o8 e 1 s V. Pivotjoint
1 AL B']ILC-IV} D-I b i - -1100se the Correct answer fl‘()m the
(' AILBILCI DIy ' . the options given
®  ALBIVCIDY
® ATLBLCILDIV

pcollegedunia‘
iy =

Imeias Largest Student Revia Pl
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o i
A % 2 i EITU“" "
ﬁﬂmmiﬂﬂ?“wmﬂﬁm%i -
g IO AR R & Ffera st 53. Followi
= 3WWQ ﬁwt‘ﬂ?ﬂ Gl o in Bt (_.Ttii are the steps e
a Eo 2 e on, s involved i 1
c S @ E TG Sttt U A, Theinactive t .- volved in action of toxir
D e e & errfier B due to au’wlinﬁxln_t:on\.-‘_:rwd . 1
B 5 9 fas e AT Al Bacillis thii e pH of gut into active fo
ECLEDS : ST =T =i : torxic i wringiensis of insect, - T,
o8t =7 iR c 2L ifisecticid: sis produce |
FIZ W frmto s e D The alkali dal proteins ¢ crystals with
a_a:ﬁﬁ_mia 2 Gt 2 fogs T 2 The ks ine pH Solub;jj' =N
b 2l o :| ! mic vated toxin bi ises the crystalsy”
e ferm mﬁ'ﬂ' TRy ldgut(:u"s’ c in binds to th ystalsy
: I T - % >
e P S I S o i met eates pores and S
0 . H W%g—@ L ) ; i bacz:-:‘ profeins exist as ; deat
PGS B Y T =TT FHi (-Ihﬂﬁsethe ria, W as inactive protoxi
(2) B=E—3A: A—-D : Biven hClo:,UnedS"-ﬁ-Iumce - KNS
(3) A_)'E—*B:E_*D 1 E—>C: cisfetstomfLopiag
g : opiy :
() BHE_,C_);AC = (2 B_)C_)B_,A_)D
i Gt @) A—E A=SE-SD
g 'laﬁw-[[%m NESSS B—’I:—)B—>D e
LE o -
S e L T Ty s
A Eﬁ:{ : Match List-I wi D
| HEl L et - 11 rie: with List-IT -
B. a@aﬁ’ﬁ? 0 W‘Cﬁﬁ'{ i fre B o s
fas i s 3 e bl 1 oot
c wHwEE I ﬂﬁaﬁ‘r B.  Genetic SEHeraﬁ;n in a
ST <1 T drift IL. . Changei
b e & ot C  Gen angeingene
IV. : eflow L T{’r‘—‘cimtgcy ?y Shance
T O e
o frmedl & D. Gene = outcfpopulg:gzﬁmto or
(1) Hel S = frequen . Totalnumber I
-1 = hoos - of cenes
LB, C- ‘ e the and th }
@ , C-I, DIV corr eir all
) AIV,BILCIILD S belove: TR, I eles
() ALBILCILT :. @, A " options given
fh G-I, D-IV 1 111, B-TI
4 AILBII CI’V DI - u(ZJ" AV Kﬁ(é‘LDN
5%y , C-IV, D-] E:\‘w .A_I G A B, C-II, D-I
feu U TirE T - 3 -1, B-I1, C-II1, D-IV
kil ﬁmm b | (4) AL B-IIL, C-IV, D-I
7 = 155 1Whd LIV,
¢ ch evolutio
sketch giveni n?rYPheno : :
givenin figure? menonis depicted by the
( (% ‘@‘
i 1 o
(3) sfar e ) Artificial selectio @) @
o (2) Geneti : n
lg; T oy C‘-'.., i iﬂnve?gent evalution
f pt qﬁlﬁﬁ;rgww ﬂ"'f "‘Z daptive radiation
o 4 = ASRTE~ B | 156. A
& Wm agff‘q Y s personwithblmd_ :
A 2 T GHAT € 7 b T e group ARh™ e
B z — iOOd transf P can rece t
; _ Rh~ 3 usion from S Tchor : ive the
' g4 CABEHE typest i ich of the following '
Der ARRT " ?: BRh™ e A wing k
ﬁih—qtﬁ = ORh™ D 2 _'— ;
5 ﬁﬁ“ﬂwaﬂwm ~ ]é"h ARK* . ARh F
ﬁ heled D Qa E i oose the correct ans )
ae A T B - D below wer from the options given
4 ver
(@ FIACTD %; Kanzllgoglly g/ D only
an ! -
only 4] Cand D only
(Orey C
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¥ 2 T H =14 a';zw 3 arfafea fafu | 157 Enzymes that catalyse the removal of grou
S 2 % i fail = T substrates by mechanisms other than hygs from |
(1) - |eaving double ponds, are known as: Tolysiy
®) ST e (1) Transferases 7y  Oxidoredu
S ) srdrEEaRSS @) Dehydrogenases @y’ Lyases e
58, WEt-1w e 145 Match List with List-1L-
‘@ SIS Qa‘ﬁ"ﬁ 1 :'_"':;'; List-1 List-11
-1 ﬁa"f:ll f,_e Event Stage of Prophase-I
o e o (Meiosis-I)
ataer-1( arefepeAt < A Chiasmata ~ Pachytene
AL W-I)'ﬁm :'_f::: formaﬁoh _
B. r| Eml Rk L HEuE .::}B Crossing oV 1.  Diakinesis
C S e E=§=C stPtO‘lema! - AL Diplotene
FEREVESIITINE =z complex formaﬁ% °
B D. Tei-mirlalisatiorugf Z
D chias . ygotene
‘ Eqiﬁtﬂaﬁm V. I Ch sZth " t
. 005 e correc answer from the © - X
y options
o et A & W SR T FU below : given
1) AL : AL, B‘L'C'W;.D-H
-1, B, G-IV, DI A, B CGIL ?
(2) A—I[.;B-I C]I[ Ly AT ‘IHvD'N
- , C-II, DIV @) AT, B-LCL DIV
(:i ) AIILBLCIDIV @ A-H,B;IH.-C—IIV DI
(4) AJLBILCIV,DI St I, G-IV,
159. Hei -1 it atch List-T with List-T1:
-1 @-n%mwaﬁ_ = List-1 ]
-1 i <A Primarystruc e
A N Tt - 10 of mcture 1 e
A dET L WA e haemoglobin
B. S0 @ fefa W Ll = ndary structure IL  Disulphide
c e IL SEECHES ¥ ofprotein phide bonds
Tl g ST v | G Tehi SRS
mueteEe - ertiary structure 1L Po |
D, I T 4 =b of protein I, Bolypeptide chain
S EET V. | Quaternary ok
_ <l gfeTere sl rary. H JOL AIPTE helix-and
e i & p . e J
e A IR H T Wer from the
) Aim’?‘wrc.ll,m ver from the optiors given
6] 111, B-I, C-L D-IV
(4 A1 BIILCIL DAV
) AN BmCIDI




.

I'Iemrsramua'aw"tm R uf 35
7 4 ! B Yt S :
s ﬁmﬁﬁfﬂmnﬁr%} F fore 3
rast ST FiferEme 2 v =
(U el THL % Wy
) F“ﬁfﬁ W‘ﬂ?ﬁmg E T Y
l.r-} Wiﬁ_%_l mﬁmﬁ
) : 1 T ¥ g
¥ e 3 e 4 e v 8 .
AT H HEHaT i F |

3 i e o ST OO USres <h = it foen
W peea T WS SR 322 Fifin daed

rarEaet ST (tetR) S & wufeer 2 € «
() BamHI U Sall (2) SallTd Pstl
() DPstITd Puul (4)  Pyul TS Bam HI

@ - 130 ol - 11 F1 afer 64 :
et - 1 Tt - 11 .y

A IS L e =
B. mﬁa IL FRHTE | -

Cc s o fEEET 'T
D, TEHIfeET IV. BRI . _
fre Torpedll B TR ST o =9 U N
1) AJLBIV,CL DI

@) ALBILCI DIV

() AJLBILCLDIV

(4 A B, CAILD-IV

1 F e e e T E ;T O AW A T
FAFWAR 21
AT A - ST T S SR S e =ieed
fe 2 21 —
FAOTR : S = % A B U T A
mwﬁm#mﬁﬁﬁm%w
e Hiferm & T e |

e,
S e 35 e e el 9 6 W S

() AwEE SR R TR E )

A T T & T R T E
ﬁAQﬁ‘RFﬁ%SﬂIR,AﬂFﬁW

2

ﬁaqﬁﬁaﬁ%ﬁ%mAmnﬁw
A R

6] i =
« Which of the f i
/ o follow -
e ‘TlLl."“'”g“'l‘m.'m""m is correct about .
( S E= B unction and their role in our body ?
1 Adher i : :
) .t ht.lmz_,_', junctions facilitate the cells to
communicate with each other. ¥
2y Igh.t junctions help to stop substances from
leaking across a tissue .
S P :
() Lightjunctions help to perform cementing to
keep neighbouring cells together
(@) Gapjunctions help to create gap between the
cells and tissues.”
162.

Sf‘lv.r_t the restriction endonuclease enzymes whose
restriction sites are present for the Lelrg,gl_ms
resistance (tet®) gene in the pBR322 cloning vector.

(¥~ Bam Hland Sall (2) SallandPstl

(3) Pstland Pyvul (4)  Pvuland BamHI
163. Match List-I with List-I1.
List-1 List-11

A, Chondrichthyes, L Clarias

B. Cyclostomata 5\1] Carcharodon

C.  Osteichthyes M Myxing -

D.  Amphibia IV.  Ichthyophis
Choose the correct answer from the options given
below :
@) A-LBIV,CIDII
(2) A-LBILCILDIV

& AILBIILCILDIV
@) A-LBIL,CIHLDIV
164. Givenbelow are twostatements : Oneis labelled as

Assertion A and the otheris labelled as Reason R.

Assertion A : During menstrual cxcle, the oyulation

takes place approximately on 144 day..

Reason R : Rapid secretionu of LH in the piddlg-pf_
memm;almgiclgmdﬁmp_tu_w_‘;ﬁ%ﬁﬂfoﬂﬂ?

and thereby the release of gyum,

i the most
In the light of the above statements, choose
appropriate answer from the options given below:
1 Ais correct but R is not correct.
(2) Aisnot correct but R is correct.

Both Aand R are correctand Ris: the co_rrect

explanation of A

I T the

4) BothA anclRa{ecomctbutRusNOT

correctexplanation of A.




W‘tmraﬁ
A 5 %m&”{‘ﬁ-laﬁa}ﬂ-u%mu
i el -1 I
5 SR L se e
¢ e oL e
€ SEEr I R wE
D, 3eA firewdt v, e TR e
T Fereredl 3 3 ot SR o =
(1) AT BIV,CI,D-I
(2)  AJILBILCIV, DI
() AV, B-ILCH, DI
(4)  A-IV,B-II,C-IL D-L
166. @-1&@41#@:@%3@:
e -1 -1
A SREdsEdEd L G I
afeFa 2l © 3R
TEREHEH A &
B SEudiERedE L G YA
c UemEEf@EdE I GNEER
D, SO AR e V. SHEE
o Ty Fid T
e Pl @ WA ST B = A
(1)  AV,BI,CI,DI
@) ALBIILCIV,DI
(3) ALBLCIIL DIV
(4)  AILBIV,CL DI
167. W - 131 eIt - 11 % H1% Frferd 1 «
-1 Tt -1
A AVl STRRRt el 5 [ et T
B, feTeA Tl F STE A L s e
TR % g @ F faegm 8@
C o B AR I G e
#@ﬁwmm '

(1) ALBIV,CIL DI

. @ AILVBLCILDII
(9 AMBLCILDIV
@ AILBIV,CILDI

i
Match List- with List-1I with respectto cony. lfw-
165- evoluti on: ’
List-] List-II R
A, Lemur 1 Elying Phalang, j
B Bobcats 1L ?u.mbat i é&
C._ Ant eater I Spotted cuscug ;15
; girrels IV Tasmanian
. Hie * tiger cat
izas Choose the correct answer from the options giy,,
al
W ¥ below
- (1‘)/ A—]}I pIv, C-IL, D1
= A]]I,B‘ILCIV,D-I
;___ ©)] AN;B—II[CH;]}I
Cl @ A pnCID
- M,-: Match List-I with List-11.
g List-I List-1I
A Cellsare metabolically L G, phase
active and proliferate
B. DNA replication 1L Gy Pha_qe
place
¢ Proteinsare synthesised G phase
D.  Quiescentstage with 2 S phase
metabolically active cells
£ Choose the correct answer from the options given &
fﬂ below :
o (1) AV, BI,CILDI
(@ ALBILCIV,DI
T AL B, -1, D-IV
167.° Match List-I with List-11:
J List-I List-I1
L Mlgratoryﬂam%eg, I  Interference
and resident fishin competition
South American lakes
B.  Abingdon tortoise T Competitive
became extinct: after :
A = release
o lntl'o. 'I.lCt[,On Of goam m
; abitat
; Resource
Partitioning
Interspecific
competition
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B

et -1
A E U L
g fe=m L
c g 1L .
D. ¥ V. SO %
fo1 forepedl O © WEl ST 1 <9+ Sl ¢ ]
(1) AJLBLCIV,D-II
@) AIV,BI,CIL, DI
@ AIV,BJ,C-II, DI
@  AIV,BIILCLDI
M, o= e =6t o8 71 S 3 STl S ST
et - 1) g - 11 3 e gaferd 4 :
Te-1 qR-I
A dlerHEE L ke g
- 3 g <
B iR I qaﬂzaﬁ-e—sys:
o g & R
i fReE Ay I nﬂ@m&;
Mﬁqé}
ﬁmﬁﬁuﬁwmwﬁ

Mwﬂmﬁwﬁﬁdﬁw-u
§ ﬂﬂ*ﬁ““
=11
(Wﬁa) Fim :
y B L s o
g FERSH AN, o
¢ ATEE WIS W eeife-T -
p CRNTETRR . ®fem
e e 1 T I o |
@) ALBILCIV,DI
9 ALBICILDIV
g ALBILCIL DV
) A-L B-IV, C-11, D-ITT

@ el - 1 1 et - 11 % e e o«
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168,

169.

170.

C1
atch List-1 v .
Match List-] v ith List-I] relating to microbes and

their products :

List-I List-IT
(Microbe 5) (Products)

A Shreptococeus L Citric acid

B Trichoderma 1. Clotbuster
polysporum

€ Monascus L. Cyclosporin A
purpurens -

D. Aspergillusniger: IV,  Statins

Choose the correct answer from the options given
below::

) AL B-IL C-IV, D-I

2  ALBILCILDIV
(3) AL B, CIL DAV
(4)  A-LBIV,C-I, DI
Match List-1 with List-11.
List-I
A, F, Particles EL
B.  Histones / I
¢ Avoem = i
D.  Cisternae V.
Choose the correct answer fr
below :
(1) AJLBY,CIV,DII
«yT AV,B1LCI, DI
() A-1V,B]CILDI
(4 AIV,BIILCLDI
Match List-I with List-II relating to examples
various kind of IUDs and barrier :
List-I List-Il
A.  Copperreleasing 1 = Vaults
B.  Non-medica Multiload 375
IUD
C.  Contraceptiy LNG-20
barrier
D. Hormone /. Lippes loop
releasing IUD '
Choose the correct answer from the options given
below :
1 ALBILV, C-IT, DI
@ AV, B, GLD-IT
@ ALBLCIL DIV
o ALBIV,CLDII
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) Q a-‘,%[';[ 38 R
‘f‘ﬁa ™ 3, 171. Given pelow are two statements :

mm I: wmm ’ Statement I: Antibiotics are chemicals produced by

3y H&HSitEl gy Seted T S microbes that kill other microbes. =l
X it TS F gtatement I1: Antibodies are chemicals formed in

> ! that eliminate microbessa="
o TEE

£ T _n thelightof the above statements, choose the most
HLA ) E appfﬂi"ia“’ answer from the options given below.

SRR YT % e § A A T A EEs | L =.__-_(]) gtatement [ is correct but Statement II is
om0 e 3 incorrect
1) w1 Td Ak ¢ 11 T 21 i @) statement I is incorrect but Statement 11 is

correct.
(2) ERYR I T © G weT Gl - \'(2’]/ Both Statement Land Statement Il are correct.
(3) 21 o 1 T8 e 1 T €

(4) Both Statement I and Statement II are
@) A5t e 1 T e 1 T €

incorrect.
172. nﬁawﬁw#ﬁﬂuﬁ@wﬁwéwﬁ% 172.

Arrange the following parts in human Mammary
gland, traversing the route of milk ejection.

STTHR Fafed w1 - A Mammary duct B. Lactiferous duct

A B. gr‘a e ¢ Mammaryalveolus D. Ampulla

C = W D. LLSl E Mammary tubule

E T Al Choose the correct answer from the options given
e v 9 S b, _below:

(1) D-C—-E-A-B *—»i\:(l) D>C—oE—-A-B

) Co>E—-B—2A—D =) c—>E->B—-A-D

@ C-oEoA-D=B __;_1\.(33( C—>E—>A—>D—B

@ A—-CoE->D—B ;=w,§(4) A @=SESD B

173, 7§ F7 EcoR1 & q lﬁ_z._t?Which of the following are correct about_‘EfgIg}

A ST TE s & W e A  CuttheDNA withbluntend

B SiwuE fefe e % He e € B.  Cutthe DNA with sticky end

c e fafe deimie %6 ) g ¢ C.  Recognisesa specific palindromic sequence-
D, SETTUA A D U WA D.  Cutthe DNA between the base Gand A when

F T T F A F A A FRa encounters the DNA sequence ’GAA'FTC'A

E e E.  Exonuclease ~ / .
e TR %23:_? the correct answer from the options given
(1) FAB, C’ = ‘® ®FAADE M) B,C,Eonly % (2) A /D,Eonly x
@ %™ACD (4 &FB,C,D (N®) ACDonly (@7 B,CDonly

174, Fe1 % @ i R foerery  Sufke 9/R ¥ 2 18 Which of the following Ta//atelpresent in female
A TR B =EE Y % ; kamach? hE are p
it Collateralgland  B.  Mushr 0
C  gHuifEH D. TEIYH P - oo gt
B o oy = Sperm e D aastvten
' @) , BandEonly N

3 FAAA @ FEEATC ' 1)
g T . ]

= imtis's Largest Studeni Revise Plailoem
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et - 1 %0 gl - 11 % e e 4« 175,

175 Mateh List. g, List-11 -
gebt-1 e Listy y List-11
ASt-
A Eﬁq 3’@3 L A. Malignant ty mors [ Destroy tumors
p wWumd L Uy BUMALT— _— o ame
c  wudad m Aefam S laco I, Metastasis
ot o V. o S z‘iwm:;‘l‘ﬂtﬂf@mns IV.  Lymphoid tissue
RNk T Bl TR B | e e
@ AMBNV,CILDI wy” Aam, B-IV, C-11, D1
® ANVBILCIDI (2)  AJIV,BILCa, DI
@) AJIBIV,CLDI ®)  AMBIV,CLDI
@ AILBLCIV,DII R

176. WWﬁmﬁm%%?
(3T 08, D
@  defeifa, i, I
@ T, s, g
@)  HeH FEF T

176. Open Circulatory system is presentin:

xr— (1) , Palaemon, ?\_Tgxés, Balanoglossus Avne
Hi : . .D-Q.u >
irudinaria, Bom@@ el _'_'I'
q‘%{ Amp;elcs, I_.im%! Limulus \*"" (EF*‘\

“) Pheretna, Musca Pila.

177. In which of the following connective tissues, the

177, = AT S 5, e 3 eI e A1 Sellie cells secrete fibres of collagen orelastin?
& g &t Ff €2 A, Cartilage B. Bone C. Adipose
A IWfE B. fty ¢ awEEH D. Blood)  E. Areolartissue
VR S Choose the most appropriate answer from the
'y ; : options given below :
ﬁqﬁmﬂ‘ﬁmaﬁammwm&f : (1) BC DandEonly
(1) #%3@B,C,DUSE S (2)/ A, B,Cand Eonly
@ FITABCTHE [ (3 B,CandDonly
@ ¥FB,CTED — @ A CandDonly
L& - : t
(@) A CTD 3 178. Which of the following pairs is an incorree
a;_a_&; match ? :
: e - Bilatera
8. T i § S o1 e Afea 22 (1) Annelids and arthropods - 1@
§ . symmetry
(e e L ameifdre - fi Iq|qaf FAfHfd ) Sponges_Acoejomates A o
2 ; : . - Radia
o 3) Coelenterates and Ctenophores
5 FHIRR-S ; syRH " tic organisation
‘(3) ﬁ:’ﬁ%z 'Q'q’ 'ﬂ'ﬂﬁlfq l(4'1/ matyhe]:minthes - Dlpl()biaj‘_c,.f-":’




v— e
[FingieEngir]

(1)  A-IV,BIICIL DI
() A-LBIV,C-LD-II
(3) AILBLCIV,D-I
(4) ALBI,CILDIV

180. q\iﬁ-ﬁ%aﬁr-n#m@ﬁ“ﬁﬂ’

(1) AILBLCIV, DI
() ALBIV,CI
@3 AIV,BIILCI D
@ ALBILCLDIY

T
A I
i &qﬁm =11
SR 1L et frsee A< Y
ma—gaﬁmmﬂﬂm
S g 0L e v &
ﬁ:ﬁﬁamﬁ:wmﬁ
c & j mmﬂﬁwéﬁm
RERER LG AL -
m o] 91 T A 9
h1 AT ;
D. Sorm st Iv. WA ST & IR
forsvate o I T AT
et forresit & W 3 0 T

Tt -1 -
A e e = T
B WA e RS
c e S m @S |
D.  ds V. cifeniea
ot el 8 9 A S T A ¢
(1) AIV,BILCI, DI
(2) AIV,BI,CIIDI
(3) AJIV,BILCI DI
() A-LBIV,CI,D-I

181. G- 1 %1 Yt - 11 5 T Yo 4 :

gl et -1
A TR FRERT o H=
B faifes g THRET aeFe
C  feym SR SR

L
D
e V. e gy

.

ﬁqﬁﬁﬁq.fef#'ﬂﬂmmww

179, Match

List=I List-II
1 dual L Maximum volume Of_mr
A o that can be breathed in

¢ Expiratory 111,

D. Tidal Volume IV. Total volume of air expired

&Y A-IL B-1, G-IV, D-IT

List-1 with List-I1:

el e after forced expiration
Volume of air inspired or
expired during normal
regpiration oA
Volume of air remaining
inlungs after forcible
expiration -

Visaif.'apa;lty 18

Capacity

after normal inspiration
Choose the correct answer from the options given
below :
(1) AIV,BI,CH,D-
2) AJILBILY, CI,D-1I
@) A-LBILCIIL DIV
Match List-I with List-IT:

List-I List-IT
A, Living Fossil L Elongated canine
teeth
B.  ConnectingLink _IL.  Vermiform
- appendix
C. VestigialOrgén I  Echidna
D.  Atavism 7 V.  Latimeria

Choose the correct answer from the options given
below :
ATV, B-lT, C-11, D-1
(2) ALV, BI,CIILD-L
(@) AV, BIILCI, DI
(4)  AJI,B-IV,CI DI

Match List-I with List-II ;
List-I List-11
Schwann cells =Tl - Neurotransmitter

Synaptic kn‘bb(/ 71l Cerebral cortex
Bipolarneurors IL  Myelin sheath
Multipolar / ~~SV.  Retina

neurons

Choose the correct answer f 1 i
rom th /!
: W e OphDI'\S gl\ en

- AL, B-1, G-IV, D-IT
@) A BIV,CI, DI
(3)  AIV,B-II,CIL, D1
(4)  AJLB-OLCI, DIV

Dlufes. i prEVented by . :
(41) EIu.n fl"om IG Cellﬁ via i
| L 2 2 SW1i

N =

(2) : ANF from atria of the heart
h ﬁ;é;stergggﬁpm adrenal q_teduﬂa
- Yasopressin from Neurohys

Hitgeduniai

~
VT i Largest Sucent Besign Puatioem

Py e
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C faftale™

G

wfaeR aferd
e St

B.
D.

E ZEHT
et H@@mmwﬁl:
3 AT D @) FIEABTED

@ ;
3 ATC @ FEADTHE

@)

@
(&)
@

ST - B (S : i)

186, Tt STAREA | FelH e -1 % get - 1

.a

W@ﬁﬁﬂﬁ
et -1

(wTe )
A ST L
B,  WR% IL

) el 1 et

J Hing

i5 the 1 !
s the list of STD.

: 5. Select the diseases
ot completely curable, e
Genital Warts B
Sy philis D

183, Folluw'.nl,
which -,m:
A
@)
E.

Genital herpes 4
o Hepatitis-B
Tichomoniasis

h(!()se 1€ correct answer from the option
tl ect answer fro
( : 1 Hh ions given

below

a i

B] Aand D only \-(z)/ B and I only
3) AandC only (4) DandEonly

184,  Whati ece|
2 tat is the correct order (old iodsi
s t ¥
Paleozoic era ? R

(1)  Silurian, Devonian, Permian, Carboniferous
\(_2’( Silurian, Devonian, Carboniferous, Permjan

(3)  Permian, Devonian, Silurian, Ca.fbonifem:s_}

(4)  Silurian, Carboniferous, Permian, Devonian

185. ‘Lub’ sound of Heart is caused by the

(1)  closure of the semilunar valves
(2)  opening of tricuspid and bicuspid valves
(3)  openingof the semilunar valves

% Section - B (BIOLOGY : ZOOLOGY)

1186 Match List-1 with List-Il relating tohuman/
external genitalia :
List-I List-Il
(Structures) (Features)

A Monspubis L A fleshy fold of tissue
surrounding the
vaginal opening

B.  Clitoris 1L Fatty cushion of cells .
covered by skinand hait

C.  Hymen I Tiny finger-like structure

2 N above labia minora

D. Labia MV A thin mex_ubrape;like
majora structure covering
vaginal opening
Choose the correct answer from the options given
below :
AL B G-IV, D-1
@ A-IV, B-IL, 11, D
@ AlLBV,CIDT
) AL B CL DIV

(& closure of the tricuspid and bicuspid valvesL”
# ', o o i
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188, iy = Sy el T R
o 1 e e el B AR T SR
Py TN i faf &

O 1 A G T S AT T SR T T
wmmqﬁéw%sﬁtmm(mﬂ)
T e ¥ foEs R0 UF faRre T SIRCTT T
Faftsra & S 81

S R R 3 SR e fomed § I
] = A

0]
@
©)
4

9 [ 5 & SiferT YA 379 8 |
oA 1 9 ¢ A HATI T B
S AT 2w I |
Sl e 1 SR R I ST |

189. T HUAI Fi JEEI -
A

FRUTRTEA 955 %1 THR2IeHees FirRe
BT Sefad &l 21

Hindi+English|

chromosomal disorder whe'r.c.
ber is not the exact cOpY of its

42 P
187. Aneuploidy 18 @

chromosome nuim

haploid set of chromosomes, dueto:

A, Substitution B. Addition

i Deletion D. Translocation
E Inversion

Choose the most appropriate answer from the
| options given below :

3 ()
G

Cand D only () DandEonly

4

A and B only Band Conly

Given below are two statements :

188.

Statement1: RNA interference takes place in all
Eukaryotic organisms as method ofc cellular defense.

X

Statement II : RNAI involves the. Siler_\CinS_Of a
specific mRNA due fo a complementary single

stranded RNA molecule that binds and prevents
. translation of mRNA .

! the light of the above statements, hoose the correct
" answer from the options given below.

@
-
- ®

Statement I is frue but Statement 11 is false.
Statement I is false but Statement 11 is frue.

Both Statement I and Statement Il are true.

(4) Both StatementIand Statement Il are false.
. Identify the wrong statements :
A Erythropoietin  is produced by
juxtaglomerular cells of the kidney > ;
Pk B.  Leydigcells produce Androgens o
=) ©  AtialNatriuretic factor, a peptide hormone
= is secreted %ﬂ\e seminiferous tubules of the
testes ;

Cholecystokinin is produced by gastro -
intestinal tract . St

Ggstri_n acts on intestinal wall and helps in
the production of pepsinogen =2

(_Z_h?ose- the most appropriate answer from the
‘options given below::

 DandEonly ¥ (2 AandBonly R
ndEonly  (4)  AandConly

pcolleged un
-y

Imeis Largest Student Revisn

j—
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A ST

g werd (<1 faferr T

¢ v fafas )

p. Taq et ud ﬁaﬁqﬁ@#\m—s’f o G

FIER
E W

éﬁwﬁ@q}@w%mﬂﬁ%wmw
A

1) C_)A—)D-—)E'—?B
) A_,B—>E-—>D-‘*C
@) A>C—=E—-D—B
) Do>B—oESC—oA

191, aERfAEE:

192,

oo i e ey o fafen e
fofiia 2 £

o 11 A T R o ST H
T ST TE § wed F e |

w7 fed T Al % v B e faeedl § § Wl
<herm St =1 =5 F

(1) HIT [ FE & Tl e 11 T e
(@) I 1 7T ¢ Tl e I W ©
@ w16 HLTI TE

4 @ RYTI TS R TEE |
Ao & FoH A TR

T | ; oSt WY % 8 Fadh o U Hahfed B
4 wrafer 2 & o fafore sv frg 71 aRaes
TF e 279 A iR e B 2 |
B 11 7 3 W For ek & e 4 vt et
¥ 321 % wiafa B 2

ST R T e 3 e H e foreed @ vl v

T T F

(1) 1 g weR A s B
Q) T HTH € U R T
©) w1 vd g

) 2 e 1 o e o

191.

192.

C1
Following are 5 .
PCR. & are the steps involved in the process of
A, AIIHE_-'.ﬁII'IEJ P
B. Amplification (~1 billion times)
L Denaturation "
D.  Tres ith T
[reatment with Taq polymerase and
deoxynucleotides 3
E. Extension

Choose the correct sequence of steps of PCR from
the options given below

CoHA-D>E—-B
2 A—-B-SE=D-oC
3 A-SCSE-DLB
4 DoBosE-CSA

Given below are two statements -

Statement I ; Concentrated urine is formed due to
counter current mechanism in nephron. v

Statement I : Counter current mechanism helps to
maintain osmotic gradient in the medullary
interstitium.

In the light of the above statements, choose the most
appropriate answer from the options given below.

(1)

Statement I is correct but Statement II is
incorrect.

Statement I is incorrect but Statement 1l is
correct.

Both Statement I and Statement Il are correct.

@

(3)
@

Both Statement I and Statement 11
incorrect.

Given below are two statements = ’
Statement I: Concentrically arranged ¢

Golgi complex are arranged the
distinct convexcis or. m%an

forming face.

Statement I1: A number gf E{otmnsare .
the cisternae of Qg}_:' oniplex before th
released from cis face. -Y',"_ 3
Inthe lightof theabove statements, choose the correct

answer from the options given below. -
(1)  Statement [ is true but Statement I1is false.
i is true.
(2) Statement 1is false ?ut Statement I1is 3
(3) Both Statement T and Gtatement I are. 3
Both Statement I and Statement ILare false., .
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Match List-1 with List-11:

List-1 List-11

Parturition L Geveral antihoq ies for
& niew - born babies -
B Placenta 1L Collection of ovum after

: ovulation

(. Colostrum: 1L Foetal ejection reflex.

Fimbriae 1V,  Secretion of the

hormone hCG

Choose the correct answer from the options gIven
below /

G AJILBIV,CL DI
2 ALBLV, C-I1, D1
@ AILBILCIV, D
(@)  AJILBIV,CILDA

Given below are two statements : One is labelled as
Assertion A and the otheris Jlabelled as Reason R.

Assertion A : Members of subphylym vertebrata
possessnotoqi_mg_[g during the embryoni ioc-The,

notdchord s replaced by a cartilaginous or bony.

vertebral column in the adult.

Reason R : Thus all chordates are vertebrates but
not all vertebrates are chordates.

In thelightof theabove statements, choose the correct
answer from the options given below.

(7 Als true but R is false.

(2) Aisfalse butR s true.

(3) Both A and R are true and R is the correct
explanation of A.

(4)  Both Aand R aretrue but R is NOT the correct

explanation of A.

The mother has A+ blood group, the father has

B+ and the child isA*., What can be the possible

genotypes of all three, respectively ?
e b A R e e

A TAAIE BTN B TAIA|IBi|IA
C. IB|IATA|TAIP D, IR PR | AL
E. IAIBi | 1AL

Choose the correct answer from th i i
\ options given
below : i k
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196. o TfRe 91 o H ‘a” SR 0 R FAR? | 196, vy g
y hat do “a’ and Feprasent . S
i population ul'ﬁi\l'th t’uw'}..; sent in the following
i
£ A
) —> =
(1) fa’mammqfswaﬂmiq%ﬂﬁm -
ﬁﬁ%aﬁﬁﬁ@am%aﬁ-{ ‘b At Time (t) —>
ofig v S S 1w F T ‘(«h/
ﬁmm%l : ‘a’ represents e.'xl.:m}emiai growth when
% responses are not limiting the growth; and .
2 L W qf@ i m qﬁs ﬁ W ‘b relprf*.sls(‘.nb; logistic growth when responses
& T 1 frefad T a;am s are limiting the growth, . —
o g q@iﬁl s (2) a represents logistic growth when responses
Fd el are not limiting the growth; ‘b’ represents
! 1y it exponentia'l growth when responses are
@) ‘;1:‘%:{ SRR T;;a%% i bﬂn‘{?ﬁ B ﬁ limiting the growth.
5 W ST ifd 2 54l
f{@TﬂT%l s (3) ‘a’ represents carrying capacity and ‘b’
" =% shows logistic growth when responses are
@ xR S Wﬂ?ﬁﬁ LG limiting the growth.
& FE & @ b T
7ol i feE & (4) ‘a’ represents exponential growth when
responses are not limiting the growthand ‘b’
shows carrying capacity.
197, i e B WA T A A A
A THE ARYH 3 Heet =309 g Hehd 197. Select the correct statements regarding Mechamse.-
Sreror 2T B %T x5 L - of muscle contraction.
s o~ A Itis initiated by a signal sent by CNS via
B, e e drenter 5 {3 fE9e S e sensory neuron. %El
b |
| .
& = B.  Neurotransmitter generates action potential
cl G Wﬁ%ﬁmmﬂﬂﬁﬁ in the sarcolemma.
I Siel S ¢ (B9 C  Increased Ca** level lea
calcium with troponin on actin
D, ufEd ¥ o Himd e o ST e '
ikl D.
E WA - 3 9 el He 69g B
7 3 I Bl ® 1 L
. ) Choose the most 'a_ppm.l? it
1 fopet 3§ T e I 1 = R options given below:
M B, Cand Eonly @ G
(@) AandD only 10 4)

,beﬁ‘bc’
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